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Chapter 14 Test Review
Fill in the blT:k
@ probability is determined using mathematical methods and the

fairness of coins, spinners, number cubes, etc.

W‘ probability is determined by performing experiments and making
observations about their outcomes.
3. Two events are l n if the occurrence of one does not affect the

occurrence of the other.

4. The probability that an event M will occur given that some other event N
also occurs is called the COY di HOMLprobabih'ty of M given N.
5. Adartis thrown at the target shown below.
| 12 | 8
| |

Total Avea = 20 b=120u*
AQ&C:: Q-Q_:lbu

o2
P(Ac = 2o ré

What is the probability it will land in region C?

6. Veteran's Day is celebrated on its original date (November 11), rather 2 ~ lgb ~ g_g b" °
than always on a Monday. In any arbitrary year, what is the probability —q'_' ‘
that Veteran’s Day will be on a weekend?

7. A quality control engineer for a toy company tested 800 computer games
and found 3 to be defective.
a. Based on these findings, what is the probability that a computer _2, .00319 or 3?-57
game manufactured by this company will be defective?
b. The company plans to make 500,000 computer games this year.

Based on these findings, how many computer games can be expected _2_ 2 ¥ SUD,WD = hg?g aame,s dep
to be defective? 8oo0

8. A group of students designed — /—
a board game with a spinner Number of Times a
that is divided into four equal flase 8 THUEWas Sputy Humber of
In a Trial of 10 Spins Trials

sections: 1, 2, 3, and “Lose a or | or 2 )
Turn.” To help them determine o 5 F (g‘” n 2 g) = \ - P (g?‘ nD
the number of times a player 1 12 12 + 1l
would spin “Lose aTurn” in - 1 = l ‘\’
10 spins, they conducted an 2 6D 50
experiment. In the experiment, 3 15
one trial consisted of 10 spins. 4 4 - 2%
Look at the table. The third = > 20 - —"'6“6'_
row, for example, shows 50
that students spun “Lose a 6 0 = 22
Turn” 2 times in 11 of their 50 7 1 - =
trials. Based on the results of 3 0 50
the experiment, what is the = I\ or le\-["/,
probability that a player will 9 0
spin “Lose aTurn” 3 or more 10 0
times in a trial? —

Total number of trials 50

9. If you randomly guess at the answer to a multiple-choice test question (
for which there are five answer choices, what is the probability that P COVYCCk)
you will guess correctly? What is the probability that you will guess . -t l -
incorrectly? P (W\COYYCO‘;\ =\ 5 - g
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tor which there are tive answer choices, what 1s the probability that U A o
you will guess correctly? What is the probability that you will guess

R Y= =
incorrectly? ?(,\nCOYYCOk\ = lg 5.i

10. What is the complement of rolling a 5 on a number cube that is labeled 1-67

RO\“V\% o0 \‘2|3|'+) or L

5 (24.8,0)

11. A card is drawn from a standard deck of 52 cards. What is P ( even &. (\ QP&A(/) - -

P(even-numbered card|spade)? l%
P (spade)

12. A coin is flipped 3 times.

a. Are these even® independent)r dependent?

2
b. Find the probability of getting tails each time. P(,T) - (_L = .é.
2

13. A large jar is filled with bills of different denominations. If a person
draws two $100 bills in succession without looking, he will receive the
entire jar of bills. The jar contains the following number of bills.

- Tokal # o pills= (82

Blll value Number of Bllls
$100 | 2 ' ) \
0 | | P(24w0 = a .4
s | 0 | Wlo ye‘)lncemenb \%2  \%=2

$5 50 = 2
51 | 100 ' —_—
. 3314

What is the probability of drawing two $100 dollar bills in succession = | a a DD(&‘/

without replacement? —_— oY . 000Dk o °
14. Two jeeps are used on a humanitarian mission that is expected to take | "alz Ol"

150 hours. The motor in each jeep has a 0.94 probability of lasting 150 W . M'b' %0’0 . @

hours. The mission can succeed if at least one of the jeeps completes the
mission. What is the probability that the motor in at least one of the two
jeeps lasts for the entire mission?

P [arleast| mor lasts) = | — P(oth motors fwlﬂ)

= | — (.00*.00)

= - .03k .
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